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QUESTION 1

Which of the following requests is used to select the process integration main message payload and the process
integration message attachments from a generic multipart request? Choose the correct answer. 

A. URL parameter 

B. Generic multipart request 

C. Form-submit request 

D. Form-based file upload 

Correct Answer: B 

 

QUESTION 2

What does a lane represent? Choose the correct answer. 

A. A An activity 

B. A process model 

C. A process participant 

D. A process role 

Correct Answer: D 

 

QUESTION 3

Which statement can you use to define warnings? Choose the correct answer. 

A.  

B.  

C.  

D.  

Correct Answer: B 

 

QUESTION 4

You can use ... to bundle all the configuration objects that belong to a single interface scenario. Choose the correct
answer. 

A. Configuration scenario 
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B. Advanced Adapter Engine (AAE) 

C. Integration Engine (IE) 

Correct Answer: A 

 

QUESTION 5

A (n)... defines how the fields of the inbound message are to be mapped to the fields of a message that is 

sent to the receiver system. 

Choose the correct answer. 

A. structure mapping 

B. value mapping 

C. outbound interface 

D. inbound interface 

Correct Answer: A 
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